
1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Fasteners List

COLORDESCRIPTIONPART NUMBERITEM QTYITEM

MagentaWasherDIN 6916 - 25201

MagentaHex-Head BoltDIN-931-1-M24x360182

MagentaHex NutDIN 985 - M24203

YellowCylinder Head Cap ScrewDIN 912 - M24 x 9024

GreenHex-Head BoltDIN 931-1 - M20 x 10055

GreenWasherDIN 7989 - A  2296

YellowHex-Head BoltDIN 931-1 - M20 x 6027

YellowHex NutDIN 985 - M20 x 1,528

CyanCylinder Head Cap ScrewDIN 912 - M20 x 8029

BlueWasherDIN 6916 - 17810

OrangeHex-Head BoltDIN 933 - M16  x 40611

 Hex-Head BoltDIN 933 - M16  x 30212

1 
A3

Aid frame and Sleeve units

Valtra N101-141-Series
State Changes Date Name

Drawn

Checked

Standard

Date Name

28.7.2008

www.jake.fi

JAKE

2

1

3

4

11

10

65 8

7

9

12


